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Name: ke\i - Date: Class:

finear functions practice
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Ms.-Chang’s Class is ahalyzing their data from the walkathon. Each student recorded money colleCted.

Leahne’s sponsors Will donate $§10 regardless of how far she walks.
Gilberto’s spohsors will donate $2 per Kilometer (k) walked.
Alana’s sponsors will make a $5 donation plus 50 cents per Kilometer (km).

The Class refers to these as pledge plans. We will use tables, graphs, ahd equations to predict how much
money might be raised with each plah.

1. Fill in the table below to show the amount of mohey each student would raise for the first 6 km
walked. :
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Pledge Plans } 2. What is the independent variable? C)()

5 ; Distance (km) :

; : 3. What is the dependent variable? [\D

il Amount of money

0 35 o %o i ¢. Who raised the most money if they only

1T %6504 Zo0 810 ! walked 1 km?

2 _$600% 4w $lo | Leanne

3 $-50 1§ (o0 %10 ] _ '

4 8700 § B.001$10 | 5 How much money did Aana make after

5 3750_ % (000 410 I walkihg 5 km? 7

6 4800 %12.00[4(0 | $47.50

Aana & Gilberto e Linear because they are

7. List the rate of Change for each student \Y_\'(/\” 0SSN \O\]i al CDHS‘\’QM
Alaha’s rate of change %0. 90 per km rores. Tiiere Was ho

‘ ' ils eS.
Gibereas race of changeD & __perkn  ONONQ 10 Lean®

Leanne’s rate of change (D per K

8. How does the rate of Change show up in the table?

Change in Amount of money per distance (im),

e EEETREREr




CAR-LEERER-RE-EEERRLREERERRELEENEESENRRLRERELNENEREEEECERELECEEIERESLENELREREER-RERE-S AR ERRRR-RR:-REERLN-0-0 8-

9. Graph each of the three pledge planhs onh the grapbh below. [abel each with the students’

REYTEEERLEE]

11. How does the rate of chahge show up in the graph?
H’\%\r\er rate of ohcm%e = Greeper line.

12. Suppose each student walks sk ih the walkathon.

Leanpe’s total: _Tp 10

Gilbereo's total: B |\

Alana’s total: $ﬂ

name. . 7 10. For each pledge plan, write an equation that

~ Pledge Plans represents the relationship between the distance ||
NEEEEERY N Il walked and the amount of money donated. | (E

\\T Lo O Ll Explain whiat the information each number or :

oy 101-—-;—-{' r\’w ( ) variable represents. : ' =
m ) * I p) . L]
i et - O R
s 4 o , /i‘n\ Leanne’s equation: \!’ $ , O .
= ® S B R M : ] - u
- e A G : s
D ‘p B : . : L]
gt R H a
= : T ; : :
3 2 Gilberto’s equation: \i $ l X :
£ %[ { .
<L St a
Lo = 6 ' x
1./ —— = Alaha’s equation: \’[ 1. 50 X :
(}‘ : H ¥ I . - L . :
o | Z %3 % 9 | E
Distance (km) 1

How ruch would they each raise?

13. Suppose each student raises $10 from a sponsor. How many Km did they each walk?
Leanne - no way fo fet] Gilberto {0=2x, x= S (gm)
1% In Alana’s plan, how is the fixed 85 dohation reprgsented in: Al ngy
The table? y VCL\H& W\(\Gf\ X =0 . (0)6 "”61' SOPL
The graph? CW\(\@,\(@ caraph inS on "ﬂxuS) lD e ’
The equation”{ne. Aryoun + added to her 5= .50
.5ox-rare of change, b= XX |0 |¢m)

15. Gilberto deCided to give eaCh sponsor a T-shirt from the walkathon. Each shirt costs him
$4.75. He plans to pay for the shirt with some of the money he raises from each sponsor.

a. How will this affect his tota| from each Sponsor?

4+ will decrease by 4.1

b. Write ah equation that represents the amount of money Gilberto raises from each sponsor

after he has paid for the T-shirt. _
| y¢2x~%ﬂ§ Y

C. 1s the relationship linear? Explain.

\es, rate of change IS Sfi)) constant.
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